4 = 4l] 5% 5 = 5l7]

7x7x7x7 =7 (=2) X (=2) x (=2) = (=2)["]

3x3x3%x3x3 =3l (1) x (1) = (_1)[?]

Ax4x4x4x4x4 =4l 5x5x%x5x5 =5






3x3x..x3=23" 6x6X%..x6=6

[?] facteurs 8 facteurs
(=2) X (=2) X ... X (=2) = (-2’ 5%5x...x5 = 5]
[?] f;gteurs 10 facteurs
TXTX .. X7 =78 (=8) X (=8) X ... X (-8) = (~8)"
[?] facteurs [?] f;;feurs

2X2x..x2=2°

[?] facteurs

1 =3l






4Pl a4 =4° 5071 x5 =53

7 70 % 7 % 7 = 78 (-1) x (-D)Fl = (-1

4 x4 x4l = 42 5171 x 5 = 511

(-2 x (=2) x (-2) = (-2)1 4x 41 5 42 = 47






7x7x7x7%=7] (=1) x (=1)° = (=1)l’]

(=2° % (-2) x (-2) = (-2 3x3x3x3%x3 =3l

4 % 40 x4 = 417 73 x7x7x 7% =7

(-2*x (-2’ x (-2) = (-2)1" 5% x 5% x 5 = 5]






3x 3l x5x5x5x%x5=3l1x5% 2 x2x 7 x 72 x 7 = 22 x 7171

471 5 42 9 = 4?1y 9l 3 x50 % 3 x 571 =32 %507

7 x 7121 5 73 = 20 7171 4x42x 42 x4’ 9x9x9=4[71%93

5x 51 x5 =57 34« 3171 = 3l71






(2! x (-2 = (-2)"] 9171 % 90 x 9 = oI’

3x 3 x 371 x3x 3l =38 7 x 7 x 7 72 = 717

9?1 92 % 9 % 9[?] = 910 (-2)P % (=2)° x (2P x (<2)3 = (=2)12

A1 5 4170 5 41 « 42 43 = 412 DB ()P x (-1) = (<1)°






50 x 5171 = 5l7]

73 x 7171 = 7]

9?1 x 9° = 9l’]

6% x 61" = 6l’l

21715 23 = ol

46 x 4171 = 4%

2]
10T x 10% = 1007

6l x 61 = 67l






71?1 ¢ 71?1 — 73 (_3)[?] > (_3)[?] — (_3)4

3171 3171 = 3 4171 5 4171 = 46

2715 ol71 = 57 (-2) % (—2)l71 = (-2)®

(- x (7)1 = (=7)° 5071 5071 = 510






Enigme :

5+5+5+5+5=5l"]



Enigme




